Jan Antell

Portfolio Management: Test |
Time: Thursday, 26 March 2015 (retake)

Maximum points: 10 .
Calculator allowed.

ALL calculations and/or explanations in ALL questions must be shown, unless explicitly stated
otherwise! Just the final answer, even if it is correct, might yield zero points. Underline or other-
wise highlight the most important parts of your answer.

Question 1.1 [3 points.]

Consider the following information for five securities.

Correlation matrix Security A Security B Security Security D Security E
Security A 1,00000
Security B "~ 0.32115 1.00000
Security C 0.35781 T 0.15024 1.00000
Security D 0.33000 0.30308 ~0.33750 1.00000
Security £ 0.32500 0.28846 0.42500 0.36000 1.00000
Expected return 10.00% 9.00% 6.00% 12.00% 5.00%
Volatility 40.00% 52.00% 16.00% 25.00% - 20.00%

a) You are about to construct a portfolio which consists of only two of the above securities. You
want to have a portfolio variance that is as low as possible. There are ten (10) different alter-
natives to construct a two-security portfolio of the above five individual securities, Which two
securities should you choose two minimize the portfolio variance, Why!

b) Compute the Sharpe ratio of the minimum variance portfolio constructed of the two assets
that yield the lowest possible portfolio variance. The risk-free rate of return is 2.00%.

Question 1.2 [3 points.]

A mutual fund offers a safe money market fund whose current rate is 1.50 per cent per annum.

Assume the fund is risk-free even if that is not entirely true. The same company also offers an

equity index fund which invests in individual securities using the same proportions as in the mar-

ket index. Its expected return is 10 per cent per annum with a standard deviation of 25 per cent.

a) Plot the capital market line. The graph should be clear such that a bad-eyed finance doctor
understands it as well.

b) What is the equation for the capital market line?
¢) What is the highest possible expected return you can get if you are willing to tolerate a vola-

tility of 20 per cent?

Question 1.3 [4 points.}

Assume that CAPM is trize (doh!). However, the information you have is incomplete. Calculate
the gaps (1)-(5) in the table below, and make a clear summary of your results.

Asset Expected re- Standard devi-  Beta Unsystematic
turn ation risk (std.dev.)

A @ (=) 1 0

B 0.08 0.17 0 (5)

C 0.13 0.35 ) 0.27

D 0.17 3) 0.75 0

QOO Dr fan says: Good luck! ©O©
Please, do not cheat. The consequences of cheating are horrifying,.
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